Tt B 32 H S A 1EER

(20224 %)
T H &R A AR RN A A 3 E A B 42

T R EL I R St B AL AL I R
RIS | AFETHEA AFEPATHL S AT 5
BT e BV 1 1 1 10 100. 0% 0
i S HEERAER 1.00 100 100 - - —
ARG 4 0 0 — — —
HA 4 0 0 — — _

T H s S B e B L
SRR AR B AR

L A Al C IR RN G BEIR 55 TAE 5 B4l 7y 5
2. EA b ARSI S5 AR RN Pt 2 A0 PR 55 9%
3. B il 7 EOR RN SRR BRI 55 TAR 5 JRAiolk 2y 8

L A il 2R 53 B 55 A5 B Aiolk o3 5
2. EA A ARSI S5 IR RN P2 0 B 55 9%
3. A Aok 7 BB RN B3 B R 55 T AR 5 IR Al 2>




— Rk TRk =t/ £ =17 fabrf SERR 5E A I3 B i 22 JEL IR 43 AT B it 8 e
1 b 4G Ak EIB RN 51 H AR . .
HEIRIR 5T 15 B Ao 40 35 ) L 100% 100% 15 15
A AV BB AR A
FEH R bR HEFRFR RS TAES H AL/ B 100% 100% 15 15
e
€=y IS A 100% 100% 15 15
ﬁrﬁéﬁ&ﬁ%ﬁ
SERRAL A ol R AR IR A B 1R
EVEhE=L A LN k=t A K I NDAE ol A = B 1) | 100% 100% 15 15
1 L 131
AN L A AR,
W EIRAR AV = S TR S =85% =85% 20 20
~ 53/ K 53100%
W R AR
R E bR A VRN T =85% =85% 20 20
By 100 1004y




